¥

BEANLBEREY
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BERX 5 = b BERX 5 =z &t
FIRERX 887 1,058 1945 |E23/RER 196 226 422
F2O/ERX 1,568 1,802 3,370 FURERX 181 235 416
FIRERX 854 1,006 1860 |E2BHRER 61 80 141
FARERX 543 627 1,170 FHH/ERX 147 162 309
EIRER 491 510 1,001 | |FE27HRER 542 587 1,129
FORER 604 665 1269 | |FE28HRERX 511 611 1,122
FIRERX 125 139 264 | |F29HRERX 197 246 443
FIRERX 202 244 446 | |FEOBER 368 453 821
FIRERX 80 89 169 |EBER 164 201 365
FIOFREX 95 109 204 |ENHBER 138 157 295
FBIKRER 83 104 187 |FEBHRER 77 88 165
FRERER 80 96 176 | |EHBER 94 120 214
FIBRER 468 498 966 | |FEBHRER 263 309 572
FUERER 156 188 344 | |FEBHRER 128 170 298
FIHRER 237 292 52| |FEITHRER 79 105 184
FTIGHRER 150 80 230 | |EBHBRER 258 390 648
FBITHRER 94 117 211 FEPFERX 65 75 140
FIBHRER 163 231 394| |F4BER 161 174 335
FIOKRER 475 558 1033] |[BE4BER 63 69 132
FHRER 104 124 228
FANHRER 296 352 648
FRHRERX 110 122 232
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